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S SraEy @ el 6|
4, <l diues &1 gl g

Options :

68634086065. 1
68634086066. 2
68634086067. 3
68634086068. 4

| )

T

Question Number : 17 Question Id : 68634021783 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dIus ogdig B et & IR TiHd &7 TS o | A1 Med B 7 § iR suifa &1 91 o1 Fafeed aadar &
Y HHITII 82

1. SHIfd 4iue B I § |
A1 SEY B A

I Sudlu 1 gl B |
4, S §1ues B Gl &

Options :

68634086065. 1
68634086066. 2
68634086067. 3
68634086068. 4

| ]

Lad

Question Number : 18 Question Id : 68634021784 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o ufgm @1 SR 5Tt Fard! 8. e a1fg= gSdl & 3R 5 T 3IR =ed] &1 39 a1 a5 B alfe- gSdl o
3R 41 Tt =Ierl 81 ISP oS 98 91 il § AR 43 Hl T DY E Nl § | I8 39 YR foig F fepait

e
1. 80 Hf
2,654l
3.50 91
4.60 1t

Options :

68634086069. 1
68634086070. 2
68634086071. 3
68634086072. 4

Question Number : 18 Question Id : 68634021784 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foram ufem 1 &R 57 9erdl 8. e 21fe gl © SR 5 1T SR e 8| 39 a8 d6 1P &lie godi &
3R 41 7t =7l 81 3P WS 98 91 il © 3R 43 H T B FD Wil § | I8 39 YR foig F fopail

E
1.80 Hf
26541
3.50 11
4.60 11

Options :

68634086069. 1
68634086070. 2
68634086071. 3
68634086072. 4

Question Number : 19 Question Id : 68634021785 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fraferiad e - Jae § qu-usg () B 9l asy 3R el [dwed &1 g-1d PIfe -

1,4.3,.9.5,16,7.25,9.36,11, 7

4,49

Options :

68634086073. 1
68634086074. 2
68634086075. 3
68634086076. 4

Question Number : 19 Question Id : 68634021785 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy

Fafeiad e - S@d d g@-us (7) 1 9l TSy 3R el [dohed &1 g-1d SIfe -

1,4,3,9,5,16,7,25,9,36,11, 2

4. 49

Options :

68634086073. 1
68634086074. 2
68634086075. 3
68634086076. 4

Question Number : 20 Question Id : 68634021786 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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"Sudha bought new bike" I "ua mv ho ik" [TRAT ST |
"Car and Bike super” I "ik ne st pu" SECIRSIGIR]

dl "Darsha Bike Super" &1 Pc Fgferad 4 9 @ g

1. gsiknc

-

. as 1k pu
3. ho ik as
4. as 1k ph
Options :
68634086077. 1
68634086078. 2

68634086079. 3
68634086080. 4

Question Number : 20 Question Id : 68634021786 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

U f[qRy o v g

"Darsha bought new car”" @/ "as ho mv st" foraT ST B

"Darsha and Sudha siblings" @I "ua as nc gs" forar AT gl

"Sudha bought new bike" @I "ua mv ho ik [TRAT S

"Car and Bike super” I "ik ne st pu" forar STar g

dl "Darsha Bike Super" &1 Pc Faferad 4 3 @ g

l. gs ikne

| )

. as ik pu
3. ho ik as
4. as ik ph

Options :
68634086077. 1
68634086078. 2



68634086079. 3
68634086080. 4

Question Number : 21 Question Id : 68634021787 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[l U 6 Wt dTdl U bl YHIT GITdl 8 | §¥iab [q9H %81 & 31 &1 Wi g

1.1/72

. 1/6

T

4.1/12

Options :

68634086081.
68634086082.
68634086083.
68634086084.

AW N =

Question Number : 21 Question Id : 68634021787 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[l U 6 B dIdl U &I YT 91l o | 59 [a9H SB01 & 3 &1 Wiidadl il

1.1/2

)

. 1/3

. 1/6

8]

4.1/12

Options :

68634086081.
68634086082.
68634086083.
68634086084.

AW N =

Question Number : 22 Question Id : 68634021788 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 7:9
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-
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Options :

68634086085. 1
68634086086. 2
68634086087. 3
68634086088. 4

Question Number : 22 Question Id : 68634021788 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

49 faenfifal &1 v Pan d BEnel Ud ©F & 919 SFUd 4:3 1 TS 4 SETE ST Y a6 9 ol § ad
BEAH! Ud BT & di= &1 SUTd {1 gRm?

1. 7:9

)

.78

.87

L)

4. 8:9

Options :

68634086085. 1
68634086086. 2
68634086087. 3
68634086088. 4

Question Number : 23 Question Id : 68634021789 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 10%

| ]

. 20%
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Options :

68634086089. 1
68634086090. 2
68634086091. 3
68634086092. 4

Question Number : 23 Question Id : 68634021789 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qfg A DT S0 B B 31T T 20 IR S5 81 1. B B 310 39 I a1 vl &0 g2

1. 10%

)

. 20%

L% ]
—_—
o
I
=
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Options :

68634086089. 1
68634086090. 2
68634086091. 3
68634086092. 4

Question Number : 24 Question Id : 68634021790 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. 13

Options :

68634086093. 1
68634086094. 2
68634086095. 3
68634086096. 4

Question Number : 24 Question Id : 68634021790 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
5 HHNTA 98 g1 Uiteh! &1 3iiEd 0 § | Had Sicl Ud Had do! 981 &1 ART [da-1 g

1.4

| ]
il
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4.13

Options :

68634086093. 1
68634086094. 2
68634086095. 3
68634086096. 4

Question Number : 25 Question Id : 68634021791 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634086097. 1
68634086098. 2
68634086099. 3
68634086100. 4

Question Number : 25 Question Id : 68634021791 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g3 2.5x=005ysIdl. [ -

aL 4
y+

”] T T J1d BT
X
49

51

i
51

[ ]

50
51

£,
51
Options :
68634086097. 1
68634086098. 2
68634086099. 3
68634086100. 4

Part B: Water Engineering and Management
Section Id : 686340432
Section Number : 2



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340712
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634021792 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If the stream function equation w= 3x~ — y*. what 1s the magmtude of velocity at point (2.2)?

1.9

| ]
[—
Lad

4. 17

Options :

68634086101. 1
68634086102. 2
68634086103. 3
68634086104. 4

Question Number : 26 Question Id : 68634021792 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A YR B y = 3x2 — y2 §. a1 165 (2.2) TR 371 T URAT R G 2

1.9

)
f—
(]

4.17

Options :

68634086101. 1
68634086102. 2
68634086103. 3
68634086104. 4



Question Number : 27 Question Id : 68634021793 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Aggregates gives the maximum strength in the concrete.

1. Rounded aggregate

[ )

. Elongated aggregate

(%]

. Flaky aggregate

4, Cubical aggregate

Options :

68634086105. 1
68634086106. 2
68634086107. 3
68634086108. 4

Question Number : 27 Question Id : 68634021793 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Frafaad o 9 & H 91 U My Sbie o Sidad Haedl e odl 6 ?
1,79
3. YddalR

4, 941G

Options :

68634086105. 1
68634086106. 2
68634086107. 3
68634086108. 4

| )

Question Number : 28 Question Id : 68634021794 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pascal- second 1s the unit of

1. Pressure

-2

. Kinematic viscosity
3. Dynamic viscosity

4. Surface tension



Options :

68634086109. 1
68634086110. 2
68634086111. 3
68634086112. 4

Question Number : 28 Question Id : 68634021794 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafiRad Geal & O uiea Uee U 5PE ¢ 2

[a—y

. ql¥/qdld (Pressure)

3 %@Tﬁﬁ’ﬁﬂ M dl({Kinematic viscosity)

7T =g (Dynamic viscosity)

| ]

Lad

4. U¥ d-ld (Surface tension)

Options :

68634086109. 1
68634086110. 2
68634086111. 3
68634086112. 4

Question Number : 29 Question Id : 68634021795 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the dynamic viscosity of a fluid 15 0.5 poise and specific gravity is 0.5, then the kinematic viscosity of that
tluid in strokes 1s

1.0.25

[ )

. 0.50
3.10

4.2.0

Options :

68634086113. 1
68634086114. 2
68634086115. 3
68634086116. 4

Question Number : 29 Question Id : 68634021795 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.0.25
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. 0.50
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LN ]
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Options :

68634086113. 1
68634086114. 2
68634086115. 3
68634086116. 4

Question Number : 30 Question Id : 68634021796 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A vertical triangular area with vertex downward and attitude 'h' has its baas lying on the free surface of a
liquid. The center of pressure below the free surface is at distance of

1. h/4

[ )

W3
3. L2

4. 2h/3

Options :

68634086117. 1
68634086118. 2
68634086119. 3
68634086120. 4

Question Number : 30 Question Id : 68634021796 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U AR AP & o 2y 1 &1 3R, $am b § 99T YR %0 1 gfad 9 W [Ud g | gad
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1. h/4

| ]

L3
3. L2

4. 2h/3

Options :



68634086117. 1
68634086118. 2
68634086119. 3
68634086120. 4

Question Number : 31 Question Id : 68634021797 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The maximum bulking of sand 1s likely to occur at a moisture content of

1. 5%

[ ]

. 8%
3.11%
4. 14%

Options :

68634086121.
68634086122.
68634086123.
68634086124.

NV S

Question Number : 31 Question Id : 68634021797 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ga1 4 =7l &1 98 ufoRid o1 § ord IR YT STy 3H S 4@ 2

1. 5%

| ]

. 8%
3.11%
4. 14%

Options :

68634086121.
68634086122.
68634086123.
68634086124.

AW N —

Question Number : 32 Question Id : 68634021798 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Surface tension of water

1. Increase with decrease in temperature.

[ ]

. Decrease with decrease in temperature
3. Increase with increase in temperature

4. Is independent of temperature

Options :

68634086125. 1
68634086126. 2
68634086127. 3
68634086128. 4

Question Number : 32 Question Id : 68634021798 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EEEALIGEICE
1. OO H S F gy ggdi |

 d9aE H S8 % iy gedi gl

| ]

99 H gfE & 91y 9gdl g

[ ¥]

4. AEE R R T8 S

Options :

68634086125. 1
68634086126. 2
68634086127. 3
68634086128. 4

Question Number : 33 Question Id : 68634021799 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In cement, generally the inerease in strength during a period of 14 days to 28 days 1s primarily due to

1. C3A

-2
[
2
7}

4. CAAF

Options :
68634086129. 1
68634086130. 2



68634086131. 3
68634086132. 4

Question Number : 33 Question Id : 68634021799 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T AR W 14 769 T 28 & 1 3@l & SR HiHe &1 arbd 1 gls 9= =y 4 Hafarad o 9 o
BRUA A §

1. C5A

-2

e
-2

7]

4. C,AF

Options :

68634086129. 1
68634086130. 2
68634086131. 3
68634086132. 4

Question Number : 34 Question Id : 68634021800 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Centre of buoyancy always

1. Coincides with the centre of gravity.

-2

. Coincides with the centroid of the volume of fluid displaced.

. Remains above the centre of gravity.

[F¥]

4. Remains below the centre of gravity.

Options :

68634086133. 1
68634086134. 2
68634086135. 3
68634086136. 4

Question Number : 34 Question Id : 68634021800 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634086133. 1
68634086134. 2

68634086135. 3
68634086136. 4
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Question Number : 35 Question Id : 68634021801 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The proper size of mould for testing compressive strength of cement 1s

. 7.05 cm”

[a—

-2

. 10.05 em®

15 em”

Lad

4.12.05 cm®

Options :

68634086137. 1
68634086138. 2
68634086139. 3
68634086140. 4

Question Number : 35 Question Id : 68634021801 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e P HUisT gmed o1 WRie H3 & AU Ue Jid B S SR &7 5:-

1.7.05 cm?

| )

.10.05 cm?
3.15 em?

4.12.05 cm?

Options :



68634086137. 1
68634086138. 2
68634086139. 3
68634086140. 4

Question Number : 36 Question Id : 68634021802 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How high should a helicopter Pilot rise at a point A just to see the horizon at point B. if the distance AB is 40

km?

1. 101.75m

]

110,50 m

. 107.68 m

[P

4, 105.50m

Options :

68634086141. 1
68634086142. 2
68634086143. 3
68634086144. 4

Question Number : 36 Question Id : 68634021802 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e gl AB' 40 km & . 1 fdg 'B' IR &40 SRa- &R [T U gelioh PR UTddie o1 Uab faig A" W) ol
5l dd I&-1 dligl:-

1.101.75m

| ]

110,50 m

.107.68 m

L)

4. 105.50m

Options :

68634086141. 1
68634086142. 2
68634086143. 3
68634086144. 4

Question Number : 37 Question Id : 68634021803 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following methods of computing area assumes that the short length of the boundary between
the ordinates are parabolic arc?

1. Average ordmate Rule

b2

. Middle ordinate Rule

faa

. Sumpson's Rule

4, Trapezoidal Rule

Options :

68634086145. 1
68634086146. 2
68634086147. 3
68634086148. 4

Question Number : 37 Question Id : 68634021803 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&ADd I T DA o1 affed faferdl § 9 @ i faft 59 yron or sruiie & fo Fewie & &=
D! JH1 BT BT TS RIAID gidl © -

1. 319d I9-9g fFaH

. He OH-ay g9
3. R &1 Hag

4. cUisiised fAam

Options :

68634086145. 1
68634086146. 2
68634086147. 3
68634086148. 4

)

Question Number : 38 Question Id : 68634021804 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If fore bcal‘ing of a line 15 S$49°52' E (assu ming there no local attraction), the back bearing of the line will be
1.552°45E
2. 549°50'E
3. N49'DF'E
4. Nag'52'w

Options :



68634086149. 1
68634086150. 2
68634086151. 3
68634086152. 4

Question Number : 38 Question Id : 68634021804 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe ford) Y@ ST ST U4Td $49°52' E &, (AH o fib @15 T @y 981 8) df S9@T 9w yua
a8 g Frgm?

1.552°45E
2.545°52'E
3. N4S°08 E
4, Nag‘s2'w

Options :

68634086149. 1
68634086150. 2
68634086151. 3
68634086152. 4

Question Number : 39 Question Id : 68634021805 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the minimum number of satellites required from which signals can be recorded to enable a global
positioning system receiver to determine latitude, longitude and altitude?

1. One
2. Two

. Three

(5]

4, Four

Options :

68634086153. 1
68634086154. 2
68634086155. 3
68634086156. 4

Question Number : 39 Question Id : 68634021805 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. 9K

Options :

68634086153. 1
68634086154. 2
68634086155. 3
68634086156. 4

Question Number : 40 Question Id : 68634021806 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The method of flame testing commonly used for establishing the instrument station is the method of
1. Radiation
2. Intersection

. Resection

Lad

4. Traversing

Options :

68634086157. 1
68634086158. 2
68634086159. 3
68634086160. 4

Question Number : 40 Question Id : 68634021806 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QUSR] g, 1 RITUAT & Y TR TR IURT 1 A aredl e ug faf g --
1. fafeRor

. gfcr=se

RO

4. THHT

| ]

[F]

Options :



68634086157. 1
68634086158. 2
68634086159. 3
68634086160. 4

Question Number : 41 Question Id : 68634021807 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A scale of 1 inch = 50 ft 1s mentioned on an old map. What is the corresponding equivalent scale?

1. lem = 5m

[ ]

. lem= 6m

. lem= 10m

[F¥]

4, lem= 12m

Options :

68634086161. 1
68634086162. 2
68634086163. 3
68634086164. 4

Question Number : 41 Question Id : 68634021807 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U RME 70 R T8 I (601 71 § & 1 §9 50 Bie & SR § . T IH@ e IHH1 991 50 2

1. lem = 5m

| ]

. lem= 6m

. lem= 10m

[ ¥]

4, lem= 12m

Options :

68634086161. 1
68634086162. 2
68634086163. 3
68634086164. 4

Question Number : 42 Question Id : 68634021808 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the volume of a 6m deep tank having Reactangular shaped top 6m X 4m and bottom 4m X 2m
(computed through the use of Prismoidal formula)?

1.96 m”

[ ]

.94 m”

.92 m”

Lad

4.90 m?

Options :

68634086165. 1
68634086166. 2
68634086167. 3
68634086168. 4

Question Number : 42 Question Id : 68634021808 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fosHIg S I3 o1 YT SR . T 6 HICI el BT MIATHR <h1 BT 3T FT1 I Tie FHIXI Tag Bl
A9 6m X 4m & 9YT T BT ATAH 4m X 2m § -

1.96 m°

.94 m?

[ )

3.92m"”

4.90m>

Options :

68634086165. 1
68634086166. 2
68634086167. 3
68634086168. 4

Question Number : 43 Question Id : 68634021809 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A close contour line with two or more higher contours inside 1t will represent a

1. Depression

[ ]

. Hill

3. Cave

4. Well



Options :

68634086169. 1
68634086170. 2
68634086171. 3
68634086172. 4

Question Number : 43 Question Id : 68634021809 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
214131 ¥ 3P urRaal arl ag g a1 ol g2l § 2

1. Ad4HA

| ]

. Pl

Lad

4. Pl

Options :

68634086169. 1
68634086170. 2
68634086171. 3
68634086172. 4

Question Number : 44 Question Id : 68634021810 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Offsets are

1. Lateral meaurements made with respect to main survey lines

-2

. Perpendicular erected from chain lines

L%}

. Taken to avoid unnecessary walking between stations

4, Measurements which are not made at right angles to the chain line

Options :

68634086173. 1
68634086174. 2
68634086175. 3
68634086176. 4

Question Number : 44 Question Id : 68634021810 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& faure= /sfada siipae e d d @ g 2
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ORISR F 911 T aEEad
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Options :

68634086173. 1
68634086174. 2
68634086175. 3
68634086176. 4

—t

| ]

fad

Question Number : 45 Question Id : 68634021811 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the design of a cast wron member, the most appropriate theory of failure 15

1. Moht's theory

-2

. Rankine's theory
3. Maximum stress theory

4, Maximum Shear Energy theory

Options :

68634086177. 1
68634086178. 2
68634086179. 3
68634086180. 4

Question Number : 45 Question Id : 68634021811 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hol e 4d & & D [STIET B ¥ Iuga famhadl &1 9ad Sugd [Sid |/ 2
1. TigY @1 Fsid (Mohr's theory)
2. 3 frgid (Rankine's theory)

3. 3MYEHaH Widad [Igid (Maximum stress theory)

4, HETH R0 3o gTd (Maximum Shear Energy theory)

Options :
68634086177 1



68634086178. 2
68634086179. 3
68634086180. 4

Question Number : 46 Question Id : 68634021812 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following related to determination of eritical path in PERT
1. Event oriented slack
2. Activity oriented slack

. Event oriented float

aa

4. Activity oriented float

Options :

68634086181. 1
68634086182. 2
68634086183. 3
68634086184. 4

Question Number : 46 Question Id : 68634021812 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafciad o 9 [ 91 fdeed PERT H 'Silde 99 & HyRor I Greied g 2
1. feufq s oidi
ey aififgo wa
4. Figpaan fepar sfifgow wa

Options :

68634086181. 1
68634086182. 2
68634086183. 3
68634086184. 4

| )

T

Question Number : 47 Question Id : 68634021813 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to maximum Shear stress failure theory. yielding occur in the material when

1. Maximum Shear Stress = yield stress

[ ]

. Maximum Shear Stress = 2 times yield stress
3. Maximum Shear Stress = 1/2 times Yield Stress

4, Maximum Shear Stress = +2 times yield stress

Options :

68634086185. 1
68634086186. 2
68634086187. 3
68634086188. 4

Question Number : 47 Question Id : 68634021813 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIUBTH SUEUU Yidad [dBa (HGid & SHR [l 2o 1 G99d a9 8idl o .old

1. ATYHTH HR=90] Yidgd= grHg ulaad

| SN]

- HIUB T HIEUU] Yidaa=u=14d Ufdead BI SRl

4, HEHIH A=Y Yidad=2 TIHd Hidad

Options :

68634086185. 1
68634086186. 2
68634086187. 3
68634086188. 4

Question Number : 48 Question Id : 68634021814 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following project management techniques 1s deterministic in nature
1. CPM
2.PERT
3. GERT

4. LCES

Options :
68634086189. 1
68634086190. 2



68634086191. 3
68634086192. 4

Question Number : 48 Question Id : 68634021814 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafRad O 9 &1 U uRdieH yaye d@- 1@ Hadids Yeld &1 s -

1. CPM

| )

. PERT

. GERT

T

4. LCES

Options :

68634086189. 1
68634086190. 2
68634086191. 3
68634086192. 4

Question Number : 49 Question Id : 68634021815 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In PERT Analysis, the time estimates of actrvities and probability of their occurence follow

1. Normal distribution curve

[ ]

. P- distribution curve

. Possion's distribution curve

[F¥]

4. Bionomial distribution curve

Options :

68634086193. 1
68634086194. 2
68634086195. 3
68634086196. 4

Question Number : 49 Question Id : 68634021815 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PERT fa=aivur &, iAfafeal & 90 3HM 3R 39 514 1 YRTGAT & 91 1= A1 9p a1 6 2

1. UOH g4 adh

[ )

. p-deT ad
: EITEGJ ECANCREL dd (Possion's )
4. fgUayad g ab

Options :

68634086193. 1
68634086194. 2
68634086195. 3
68634086196. 4

Lo

Question Number : 50 Question Id : 68634021816 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cantilever beam of T cross-section carries uniformly distributed load. Where does the maximum magnitude
of the bending stress oceur?

1. At the top of the cross-section
2. At the junction of flange and web

. At the mid depth point

Lo

4. At the bottom of the section

Options :

68634086197. 1
68634086198. 2
68634086199. 3
68634086200. 4

Question Number : 50 Question Id : 68634021816 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR UH sidbe aIH/WIRIERY] BT W BIE ( cross-section) T &, 3R U8 THM ¥4 ¥ [daRkd YR d&- oxal
©. 01 8§91 a1 (bending stress) T TUHIH TRAT Hel oI 2
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e /31e] TTBRIS fog UR
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Options :

68634086197. 1
68634086198. 2
68634086199. 3
68634086200. 4

Question Number : 51 Question Id : 68634021817 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Slack time in PERT Analysis
1. Can never be greater than zero
2. Is always zero for critical activities
3. Can never be less than zero

4, Is mimimum for eritical events

Options :

68634086201. 1
68634086202. 2
68634086203. 3
68634086204. 4

Question Number : 51 Question Id : 68634021817 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PERT & G¢H H " 900" & [y Fa & § R 91 §

1. Bl o Y7 9 37 761 81 Fohll|

. &S Bl & T gH A BIAT |
3. ot oft 7 9 Bier 81§ @
4. T RRufedl & oy =Aae siar g |

Options :

68634086201, 1

68634086202. 2

68634086203. 3
68634086204. 4

[ ]

Question Number : 52 Question Id : 68634021818 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the ratio of moment carrying capacity of a circular beam of diameter D and square beam of size D.

o

[ ]

w N oo|§;‘}

3
16

Options :

68634086205. 1
68634086200. 2
68634086207. 3
68634086208. 4

Question Number : 52 Question Id : 68634021818 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafeRad = 9 &1 91 64 ¥ D" & TS MAIDR §iH 3R PR D' & U JNBR & S SATg0
HaG-1 & 1 H51 U SR -

Options :

68634086205. 1
68634086200. 2
68634086207. 3
68634086208. 4

Question Number : 53 Question Id : 68634021819 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For the analysis of thick cylinder, the theory applicable 1s:

1. Lame's theory

[ ]

. Rankine's theory
3. Poisson's theory

4. courbon's theory

Options :

68634086209. 1
68634086210. 2
68634086211. 3
68634086212. 4

Question Number : 53 Question Id : 68634021819 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T 9@ o [adyUl & fore Faferiead & ¥ &9 |1 fGid ansidie ?
1. (Lame's) oHl &1 g

. (Rankine 5:1:‘{1-3?'1 Eal R‘lc&li‘l

-2

. [Poisson's) WIgul— &1 Fgid

T

4. (Courbon's) ®Ta- &1 figid

Options :

68634086209. 1
68634086210. 2
68634086211. 3
68634086212. 4

Question Number : 54 Question Id : 68634021820 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Inorganic soil with low compressibility are represented by

1. MH

-2

. 8L
3. ML

4. LH

Options :
68634086213. 1
68634086214. 2



68634086215. 3
68634086216. 4

Question Number : 54 Question Id : 68634021820 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHafRad O 9 &9 91 Ug & GUISgdl aldl seal-e Jal uiai-ied @l s 2

1. MH

| )

. 8L

. ML

T

4. LH

Options :

68634086213. 1
68634086214. 2
68634086215. 3
68634086216. 4

Question Number : 55 Question Id : 68634021821 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The critical hydraulic gradient (1.) of a soil mass of specific gravity (G) and void ratio (e) 1s given by

| )

L]
—
Il

Options :

68634086217. 1
68634086218. 2
68634086219. 3
68634086220. 4

Question Number : 55 Question Id : 68634021821 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U Ta1 Yo ol U 99 (G) § auT RIgd ouTd (e) 8 . SUS! dilad gadnierd Havrdl ¢,) 1 gl

Li G+1
i l-e
L. G-l
1= e
. G+l
.= p
o el
e = l1-e
Options :

68634086217. 1
68634086218. 2
68634086219. 3
68634086220. 4

Question Number : 56 Question Id : 68634021822 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uniformity coefficient of a soil 15

1. Always less than 1

-2

. Always equal to 1
3. Equal to or less than 1

4, Equal to or greater than 1

Options :

68634086221. 1
68634086222. 2
68634086223. 3
68634086224. 4

Question Number : 56 Question Id : 68634021822 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl BT SR U § -
1. 9T 1 9 HH

. ged 1 & aIeR

| B

3. U o &[ER O] 394 Y

4, U & SRER 91 39U 1E]

Options :

68634086221. 1
68634086222. 2
68634086223. 3
68634086224. 4

Question Number : 57 Question Id : 68634021823 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a wet so1l mass. air occupies one-sixth of its volume and water occupies one-third of its volume. The void
ratio of the soil 15

]
=
L
=

4. 1.00

Options :

68634086225.
68634086226.
68634086227.
68634086228.

NV S

Question Number : 57 Question Id : 68634021823 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS a1 U 71dl Ga1 Ue & SR T 331 YT BRal 8 3R U1 §9% - &1 U [agTs YFTERdl g al
a1 ot 1 RS srJard s g 2

1.0.25

| ]

.0.50
3.0.75

4.1.00

Options :



68634086225. 1
68634086226. 2
68634086227. 3
68634086228. 4

Question Number : 58 Question Id : 68634021824 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The soi1l sample A and B have porosity nA= 40% and nB = 60% respectively. What is the ratio of void ration
CA_ . GBG

4.9:4

Options :

68634086229. 1
68634086230. 2
68634086231. 3
68634086232. 4

Question Number : 58 Question Id : 68634021824 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¢ Ta1 % 3l 751 A 3R B &1 THAT nA=40% TUT B = 60% & , T 30 Ridd AT BT AU (24 e ) T
BII ?

1. 2:

LF¥)

| ]
L %]
[ B}

.49

L

4.9:4

Options :

68634086229. 1
68634086230. 2
68634086231. 3
68634086232. 4

Question Number : 59 Question Id : 68634021825 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The predominant mineral responsible for shrinkage and swelling in black soil 1s

1. Ilite

[ ]

. Kaolinite
3. Mica

4, Montmorillonite

Options :

68634086233. 1
68634086234. 2
68634086235. 3
68634086236. 4

Question Number : 59 Question Id : 68634021825 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BTl U a1 H Had Ud Bead & (U e Y@ @i-el |13 2
1. geflsc
G|l

3. HHD

4. HtwTEe

Options :

68634086233. 1
68634086234. 2
68634086235. 3
68634086236. 4

| ]

Question Number : 60 Question Id : 68634021826 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The collapsible soil 1s associated with

1. Dune sands

[ ]

. Laterite soils
3. Loess

4. Black cotton soils

Options :
68634086237. 1
68634086238. 2



68634086239. 3
68634086240. 4

Question Number : 60 Question Id : 68634021826 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yo T=/uTy e i | |eafed 8 -
1. fessta

-2

. TICZE Hel /ARl
 Tereit gt
4. PIel U 7T /Slalg/ PRI gl

Options :

68634086237. 1
68634086238. 2
68634086239. 3
68634086240. 4

T

Question Number : 61 Question Id : 68634021827 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A soil sample having a void ratio of 1.3, water content of 50% and a specific gravity of 2.60. is in a state of

1. Partial saturation

[ ]

. full saturation

. Over saturation

Lad

4. Under saturation

Options :

68634086241. 1
68634086242. 2
68634086243. 3
68634086244. 4

Question Number : 61 Question Id : 68634021827 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A U gal & 9 1 Ridd SuTd 1.3, STeiig 111 50 Uii=id Ud 31igep 99 2.60 5,41 S9!
fraferad & & o= 1 gl 2

ot Sqfea

R g

4. 71 WS

Options :

68634086241. 1
68634086242. 2
68634086243. 3
68634086244. 4

[a—y

| ]

Lad

Question Number : 62 Question Id : 68634021828 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A soil has a liquid limit of 40% and plasticity index of 20%. The Plastic limit of the soil will be
1. 20%
2.30%
3.40%
4. 60%

Options :

68634086245.
68634086246.
68634086247.
68634086248.

AW N =

Question Number : 62 Question Id : 68634021828 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hal & U 1A 1 &d AT 40 WaRd SR gaeadl Yo 20% ¢ | S9S!1 Juedl G191 71 81l 2

1. 20%

| )

. 30%
3. 40%
4. 60%

Options :
68634086245. 1



68634086246. 2
68634086247. 3
68634086248. 4

Question Number : 63 Question Id : 68634021829 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The liquid limit and Plastic limit of sample are 65% and 29% respectively. The percentage of soil fraction
with grain size finer than 0.002 mm is 24. The activity of soil sample is.

1. 0.50

b2

. 1.00
3.1.50

4. 2.00

Options :

68634086249.
68634086250.
68634086251.
68634086252.

AW N =

Question Number : 63 Question Id : 68634021829 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fS U A4 B Rerd] HHT U oI 1 BH: 65% 3R 29% ¢ . 0.002 [ & S12 Huil arell gl &
31 T UIRId 24 § Ol Jal & 59 A &1 dideaar o1 sl 2

1. 0.50

| ]
o
=
=

[N
o
LA
[e=]

4. 2.00

Options :

68634086249.
68634086250.
68634086251.
68634086252.

AW N =

Question Number : 64 Question Id : 68634021830 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The run off mereases with

1. Increase 1n mtensity of ram

[ ]

. Increase in infiltration capacity
3. Increase in permeability of soil

4. Decrease 1n intensity of rain

Options :

68634086253. 1
68634086254. 2
68634086255. 3
68634086256. 4

Question Number : 64 Question Id : 68634021830 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'HUATE (Runoff) & MU I fdsw Agdd 98 g
aNi ! Faa & 9fg F Iy sgar gl

. 3 e &fdl & Y dgdl gl

-

[ )

&l &1 YRl & 91y §gal 6|
4. 991 B digal § HH & 91U ged1 o

Options :

68634086253. 1
68634086254. 2
68634086255. 3
68634086256. 4

T

Question Number : 65 Question Id : 68634021831 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Majority of rainfall in India 1s contributed by:-

1. North East monsoon

[ )

. South West monsoon
3. Pre monsoon rain

4, Post monsoon rain

Options :
68634086257. 1
68634086258. 2



68634086259. 3
68634086260. 4

Question Number : 65 Question Id : 68634021831 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd H giH arelt a9l & Hfeiw greHE Ae H I fvgsrg 2

3R gd| A
& il iy
. qd Hig auf
4. g aul

Options :

68634086257. 1
68634086258. 2
68634086259. 3
68634086260. 4

-

)

T

Question Number : 66 Question Id : 68634021832 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tropical cyclones develop as a result of balance between forces of

1. Pressure gradient force (Pn) and Centrifugal (Cf) force

[ ]

. (Pn) and coriolis force (Cn)

. (Cf) and (Ch)

Lad

4. (Ch). (Pn) and frictional force

Options :

68634086261. 1
68634086262. 2
68634086263. 3
68634086264. 4

Question Number : 66 Question Id : 68634021832 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SUrbieqsig Thard 9 T A B I aal & o Jqord & yRumHEsy [Aefid gld g 2

1. 31§ UaUIdT 99 (P) U4 HTdHE! 96 (Ch)

| B

. &T8 JqUIdT §¢(Pn) U8 DRI ¢ (Cn)
3. 3UPEl g9 (cn Td DI ¢ (Ch)
4, BIRIIT (cw). 19 YU (Pa) TG YOI g6

Options :

68634086261. 1
68634086262. 2
68634086263. 3
68634086264. 4

Question Number : 67 Question Id : 68634021833 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following represents the correct order of processes involved in sedimentary rock formation?

A. Erosion

B. Weathering
C. Compaction
D. Cementation
E. Deposition

Choose the correct answer from the options given below:

1.LA,B,C,D,E

[ )

-ByA;E,C; D
3. B A, G, DE

4 ED.C.B.A

Options :

68634086265. 1
68634086266. 2
68634086267. 3
68634086268. 4

Question Number : 67 Question Id : 68634021833 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafad 3 9 o9 O fased siard] 9gH1 & a3 wnfie uiearsi & sl F 1 ulaHiYa $iar g

A H9gq
B. Y&
C. g4

D. 94ieH
E. H&gu

1.LA.B.C.D.E

[ ]

B.AE.C.D

.B.A.C.D.E

5]

4 E.D.C.B.A

Options :

68634086265. 1
68634086266. 2
68634086267. 3
68634086268. 4

Question Number : 68 Question Id : 68634021834 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LIST1 LISTII

Geological events Processes

. [Exfoliation dome| . |Landform change

Fift vallev II. [Ultisols
Palacomagnetism| [II. Mechanical Weathering
Pedogenens IV. |Seafloor spreading

o|ofw|=

Choose the correct answer from the options given below:

1. A-I, B-II. C-III, D-IV

[ ]

CACIL B-L C-IV, D-III

A-IIL B-I. C-IV. D-II

T

4. A-IV, B-II. C-I. D-III

Options :

68634086269. 1
68634086270. 2
68634086271. 3
68634086272. 4



Question Number : 68 Question Id : 68634021834 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 61 1 11 9 faer Sifon
@I(W"ﬁﬂ @'H{qﬁ,—qn

cHD
HUE[ethd G | L [Redid 5 g5l
EEERIE] I |3 gid

REETd 11 [FiFe &
s IV. [SHze UREY

FafaRad fdeedl 5 T 981 St & 9g9 S -

1. A-L. B-1I. C-IIT. D-IV

ofo|w|x

| )

A-IL B-1. C-IV, D-III

. A-III. B-I. C-IV, D-I1

L)

4. A-IV, B-II. C-I. D-III

Options :

68634086269. 1
68634086270. 2
68634086271. 3
68634086272. 4

Question Number : 69 Question Id : 68634021835 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following equipment is related to dairy?

1. Thresher

-2

. Lactometer

. Cane Planter

L%}

4. Winnower

Options :

68634086273. 1
68634086274. 2
68634086275. 3
68634086276. 4

Question Number : 69 Question Id : 68634021835 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafafad d T o W 3usu S0 Y aEiia g 2
AR (Thresher )
. TR (

actometer)

[a—y

| B

. ] TTeR (Cane Planter )

Lad

4. fa 18R (Winnower)

Options :

68634086273. 1
68634086274. 2
68634086275. 3
68634086276. 4

Question Number : 70 Question Id : 68634021836 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many agroclimatic and ecological zones have been classified by ICAR. respectively:-
1. 8 and 131
2.131 and 8
3. 15 and 131

4,21 and 15

Options :

68634086277. 1
68634086278. 2
68634086279. 3
68634086280. 4

Question Number : 70 Question Id : 68634021836 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i SN SR URYE (ICAR) & GRT HHY: fha- S siaarad] vd yaiawuiig sra= arfigd e
Mg

1.8 3R 131
.131 3R 8
3.15 3N 131
4,21 3R 15

| ]



Options :

68634086277. 1
68634086278. 2
68634086279. 3
68634086280. 4

Question Number : 71 Question Id : 68634021837 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The nuerobial utilization of organics 1s

1. First order reaction

[ ]

. Second order reaction

. Third order reaction

aa

4. Quarternary reaction

Options :

68634086281. 1
68634086282. 2
68634086283. 3
68634086284. 4

Question Number : 71 Question Id : 68634021837 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PBIa-E Uil Yeralids Guudn -5 1 ¥ {69 ueR @t sififssar g

1. T pifd &l

fedra ife =1

i Hife B
4. 9qd e H

Options :

68634086281. 1

68634086282. 2

68634086283. 3
68634086284. 4

| )

L)

Question Number : 72 Question Id : 68634021838 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A: Sandy soil helps promote good drainage and aeration.

Reason R: Sandy soils particles have size in the range 0.05 - 2.0mm.
In the light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R are correct but R is NOT the correct explanation of A
3. Ajis correct but R is not correct

4. Ais not correct but R is correct

Options :

68634086285. 1
68634086286. 2
68634086287. 3
68634086288. 4

Question Number : 72 Question Id : 68634021838 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= &1 By AU 7T 8: To HUSHYH (ASSERTION A) P T H faffad § ol GO 3 ®RUI (REASON R) & &4 -
HIUHYA A Jdtel HE Safer! R ard o ge1a aal 8

DR R Yaicl [HS] & S I HDR 0.05 U 2.0 mm & did A1 5|

SR By & Hdld H, id [GU T fadeul © U gay Iuged 3R &l 90 Big

1. A ¥R RCH TG € HR R, AT Gol TS &
AR REH T™ T 2R R, A DI TE! ST 8l &
A TOETABIR AT S

[ )

faa

4, A dEETFIRTTE

Options :

68634086285. 1
68634086286. 2
68634086287. 3
68634086288. 4

Question Number : 73 Question Id : 68634021839 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Soil erosion by wind brings about the serious damage 1n soil by changing the

1. so1l permeability
2. soil structure
3. so1l texture
4. soil plasticity

Options :

68634086289. 1

68634086290. 2

68634086291. 3
68634086292. 4

Question Number : 73 Question Id : 68634021839 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
arg GRT el Sied HefaRad § 9 (69 &1 guIiad sid gar &1 1R &fd ugandl g 2

1. &l &1 YRl

-2

AR TEE]
R CARIGE]
4. 71 g

Options :

68634086289. 1
68634086290. 2
68634086291. 3
68634086292. 4

[ 5]

Question Number : 74 Question Id : 68634021840 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which class of land should be used for pasture and forest?

1. Capability class VIII

[ ]

. Capability class IT to VI

[F¥]

. Capability class VI to VII
4. Capability class V to VIII
Options :

68634086293. 1
68634086294. 2



68634086295. 3
68634086296. 4

Question Number : 74 Question Id : 68634021840 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RIS SR STd & o0 yged YiH &1 avf (e 0 9 1 ghm 2

1. HfH & & VI

[T &mar Tl 1 VI

-7 gmar @il vIE v
4. Yffy &mrcr @t v VI

Options :

68634086293. 1

68634086294. 2

68634086295. 3
68634086296. 4

-2

T

Question Number : 75 Question Id : 68634021841 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Engine efficiencies are not indicated by

1. Thermal efficiency

[ ]

. Mechanical efficiency

Lad

. Relative efficiency

4. Chemical efficiency

Options :

68634086297. 1
68634086298. 2
68634086299. 3
68634086300. 4

Question Number : 75 Question Id : 68634021841 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafeiiad o 3 19 9 faw ey o qafdl 3 Trafed 781 5 2
1. 3 DT /ATt Sraamd

. TifAe D&

3. WTUTE DT are

4, AP BRI

Options :

68634086297. 1
68634086298. 2
68634086299. 3
68634086300. 4

| B

Question Number : 76 Question Id : 68634021842 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following does not hold true for Biodiesel:-

1. Monoalkyl ester

[ ]

. Methyl ester

(%]

. Ethyl ester

4. Butyl ester

Options :

68634086301. 1
68634086302. 2
68634086303. 3
68634086304. 4

Question Number : 76 Question Id : 68634021842 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el 4 9 &H 9 ded @sive) 9 SEitd Tl e 2

1. (Monoalkyl ester) HIHIUfcdhel TR

-2

. (Methyl ester) ﬁ[aﬂﬂﬁ Ul

[ 5]

. (Ethyl ester) UIST U

s

. (Butyl ester) 2S¢ U&X

Options :
68634086301. 1



68634086302. 2
68634086303. 3
68634086304. 4

Question Number : 77 Question Id : 68634021843 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements; one 15 labelled as Assertion A and the other 15 labelled as Reason R
Assertion A: A tractor is a vehicle designed to deliver a high tractive effort{or torque) at slow speeds.

Reason R: Agricultural implements may be towed behind or mounted on the tractor, and the tractor may also provide a source of
DOWET,

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ajis correct but R is not correct

4, Ais not correct but R is correct

Options :

68634086305. 1
68634086300. 2
68634086307. 3
68634086308. 4

Question Number : 77 Question Id : 68634021843 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

id &1 #oF [GU U 8: Us WU (ASSERTION A) & ¥ H fAIRad & df GO 34dh RUI (REASON R) & &4 -
YT A 0822 TS U1 a6 & ford 16 71 U 3= Sy 1Oy (3190 86 ) & & [0 URefud [ear T e |

@RI R :¢qeX AT BT A HGH B1 g Ul 385 1Y Iy ol ¥ HY JuBUll & a1 ol Gebdl g 91 39 W
HRITU To a1 &1 Tehal 5|

SIRIad By & Al 5, 7 6T T fewenl © ¥ 9y I0gad S &l 90 B ieg
1. A AR REF TB1 T AR R, AT GEI AN 2

-

 AARREM TW § RR AT T TS 5
A TIeAETRIETET
4. AT g APTRIT B

Options :
68634086305. 1

[ ]



68634086306. 2
68634086307. 3
68634086308. 4

Question Number : 78 Question Id : 68634021844 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Power transmitted by a V-belt drive 15 determined by the effective pull and the belt speed. as given by the
tollowing equation:-

1, p(Bh)Y
1000
, p_ (BT
1000
3. ;r=w
1000
4l I}= [TI'_‘ _T-‘}v
1000

Options :

68634086309. 1
68634086310. 2
68634086311. 3
68634086312. 4

Question Number : 78 Question Id : 68634021844 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

V- Slee gR1 Uid 91 THT6l 96 3R dee B Tid IR F1HR Sl & 1 779 5 8 B17 91 I8 V- 6w gRI

(1,-1)»
1000

o [

(L-T)v
1000

2
I

Options :

68634086309. 1
68634086310. 2
68634086311. 3



68634086312. 4

Question Number : 79 Question Id : 68634021845 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LBEL LISTIT
Tvpe of power .transmission Pitch
chain
A [Bush I. B2mm
B. |Silent I 127 to 15 8mm
C. [Bush roller with bent plates | III |15 - 100mm
D. [Hooked link-belt chain IV, 40-100mm

Choose the correct answer from the options given below:
1. A-IL. B-IIL. C-1. D-IV
2. A-IIL B-IL C-IV. D-I
3. A-IV. B-III, C-IL. D-I

4. A-I, B-II. C-I11. D-IV

Options :

68634086313. 1
68634086314. 2
68634086315. 3
68634086316. 4

Question Number : 79 Question Id : 68634021845 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 191 gt 11 9 e Hifee

T 1@ TR0 $3Gal BT PR ) 11(3T)
A_ [@9 T (Bush chain) I lazmm |
B. HIRa 94 (Silent chain) I 12.7 to 15.8mm
C. [dihd Bad & WY g7 A (Bush roller with bent plates) |IIL [15 - 100mm
D. |HHINDHR WAl §:5 o7 (Hooked link-belt chain) IV. |40-100mm
Fafafed faeedt & T w8l 3o &1 999 SIf

1. A-II. B-II1, C-1, D-IV

[ ]

CA-IITL B-I1L C-TIV, D-I

CA-IV, B-IOTL C-I1, D-I

[F5]

4. A-L, B-1I, C-III. D-IV



Options :

68634086313. 1
68634086314. 2
68634086315. 3
68634086316. 4

Question Number : 80 Question Id : 68634021846 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following equation 1s used to calculate the actual delivery of o1l from any hydraulic pump ?

_ Dy
71000

H0.- "

g =20
+.6,= Di’néﬁ

Options :

68634086317. 1
68634086318. 2
68634086319. 3
68634086320. 4

Question Number : 80 Question Id : 68634021846 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁaﬁ?ﬁaﬁﬁﬁmaﬁwmwﬁn%mﬁaﬂwﬂﬂa%wﬁ%ﬁmﬂ%mm
ST g ?

.-’)ﬂnﬁ.rgw

P 1000
D.nn,

*2 =000
_ Dnn.

> = IO(;U;
i B Dﬁn,{_r}
TR 1000



Options :

68634086317. 1
68634086318. 2
68634086319. 3
68634086320. 4

Question Number : 81 Question Id : 68634021847 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a type of sprayer?

1. High volume

[ ]

. Low volume

aa

. Ultra-high volume

4. Ultra-high volume

Options :

68634086321. 1
68634086322. 2
68634086323. 3
68634086324. 4

Question Number : 81 Question Id : 68634021847 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 & 9 B 9 [d6 e GRS /BIGR & UbR &I o aidl :-

1. 3= gRHEm (High volume sprayer)

| )

. 31¢d YRATT (Low volume sprayer)
. 3Afd S URAIT (Ultra high volume sprayer)
4. fafg aRmmor (Ultra low volume sprayer)

Options :

68634086321. 1
68634086322. 2
68634086323. 3
68634086324. 4

L)

Question Number : 82 Question Id : 68634021848 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT

LISTI LISTII
Tyvpe of WT Principle of energy transmission
A |Hydrodvnamic| I. | Hydrostatic forces at pumps and motors transmission
B. Mechanical II. [Electromagnetic forces
C. |hvdrostatic II1. [traction forces within friction contacts
D. [Electrical IV. Mass forces at pump and turbine

Choose the correct answer from the options given below:

1. D-IIL, C-IV, A-II, B-I

[ ]

.D-1, C-II, A-IIT. B-IV

.D-II, C-1, A-IV, B-III

L]

4. D-IV. C-III. A-II, B-I

Options :

68634086325. 1
68634086326. 2
68634086327. 3
68634086328. 4

Question Number : 82 Question Id : 68634021848 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 11 ! 11 ¥ THa P

™ Iﬁﬁmﬁ'ﬁ P | st 11 3wt e o Ry
I EERIGED L [d7 9ur Hick R saide 9d
B. [gif® T ER G EEIRER]
C. pa=iid® L. [e v e & ol Hu &
D_ [ e[t IV. [dg 3R el R 59AH 5
frafead faeedl & 9 98t SR &1 994 DI -

1. D-III. C-IV, A-II. B-I

| )

. D-I. C-II. A-III. B-IV

. D-II. C-I. A-IV, B-III

L

4. D-IV, C-III, A-II, B-I

Options :

68634086325. 1
68634086326. 2
68634086327. 3
68634086328. 4



Question Number : 83 Question Id : 68634021849 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following crops are used for producing biofuels?

A, Sugarcane
B. Corn
C. Potato

1. A& B only

[ ]

. A & Conly

[F¥]

.B & Conly
4 AB&C

Options :

68634086329. 1
68634086330. 2
68634086331. 3
68634086332. 4

Question Number : 83 Question Id : 68634021849 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafead § oo Bl o1 W Slag e &4 & foTT fahar ST g 2
AT
B. Ha®[
C. I,
4 fgu e Seenl © 9 6 I &1 90 S
1. %ad A 3R B
Had A IR C
3.%adaB IR C

4. A.B3RC

Options :

68634086329. 1
68634086330. 2
68634086331. 3
68634086332. 4

[ ]



Question Number : 84 Question Id : 68634021850 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under the Integrated Nutrient Management (INM) Mycorrihiza 13 an indispensable agricultural input. Select
the correct benefits between fungus and root of the plant

A. mimproved supply of water and nutrients to the plants
B. Increased tolerance of plants to environment stress
C. Protect plants from soil borne pathogenic disease
D. Maintains biological health of soil

choose the correct answer from the given options below:
1.B & D only
2.A.B & Conly
3.A.B.C.Donly
4. C & D only

Options :

68634086333. 1
68634086334. 2
68634086335. 3
68634086336. 4

Question Number : 84 Question Id : 68634021850 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. %ad C AR D

Options :

68634086333. 1
68634086334. 2
68634086335. 3

[ ]



68634086336. 4

Question Number : 85 Question Id : 68634021851 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Boron 15 an essential micronutrient for crop. Which of the following are its functions m erops?

A Facilitates pollination

B. Aids in translocation of sugar and carbohydrate

C. Plays an important role in the proper functioning of cell membranes
D. Helps in nitrogen fixation

E. Aids in photosynthesis

Choose the correct answer from the options given below:

1. A, B, C only

| ]

.A.B.C,Donly
3. A& Bonly

4. A B.C.D.E only

Options :

68634086337. 1
68634086338. 2
68634086339. 3
68634086340. 4

Question Number : 85 Question Id : 68634021851 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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D. g o U 038 SRl g |

E. HHTRREIY0 J JgRdl #al g |

1. Hdd AB.C
. $dd AB.C.D
3. Had A AR B

| ]

4. HAAAB.CDE

Options :
68634086337. 1
68634086338. 2



68634086339. 3
68634086340. 4

Question Number : 86 Question Id : 68634021852 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Desertification can lead to

A. Decrease m food supplies
B. Decrease in water supplies
C. Migration

D. Loss of jobs

E. Global warming

Choose the most appropriate answer from the options given below

1.A,B.C.E only

[ )

.B.C.D.E only
3.A.B.C.D only

4. A, B. C only

Options :

68634086341. 1
68634086342. 2
68634086343. 3
68634086344. 4

Question Number : 86 Question Id : 68634021852 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 el § 9 ToTellen vl fbep] IR0 & Fahdll o7

A @ HTgfd o Bt
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3.%dd AB.CD
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[ ]



Options :

68634086341. 1
68634086342. 2
68634086343. 3
68634086344. 4

Question Number : 87 Question Id : 68634021853 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements 13/ are correct with respect to solar cell technology?

A. Crystalline silicon solar cells have a greater market share than thin film solar cells

B. Thin film solar cells are cheaper than crystalline silicon solar cells

C. Crystalline silicon cells are more efficient than thin film solar cells

D. Both technologies operate on the same photo voltaie principle

E. Crystalline silicon solar cells are more enviromment friendly to dispose than thin film solar cells at the
end of their respective lives

Choose the correct answer from the options given below:

1. A, C.Donly

[ )

.A.D.E only

(¥

.A.B.D.E only
4. A,B.C.D only

Options :

68634086345. 1
68634086346. 2
68634086347. 3
68634086348. 4

Question Number : 87 Question Id : 68634021853 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.$ddACD
. $dd ADE
3. %dd ABDE

4. Had AB.CD

Options :

68634086345. 1
68634086346. 2
68634086347. 3
68634086348. 4

)

Question Number : 88 Question Id : 68634021854 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement is/are true about Syngas?

A. Tt 15 a nuxture of carbon monoxide & hydrogen

B. It can be easily converted into gasoline through a process called steam

C. It 1s easily storable

D. It 1s combustible and can be used as fuel in reforming internal combustion engine.
E. Syngas has almost doubled the energy density to that of natural gas.

Choose the correct answer from the options given below:

1. A, B.C.E only
2.A B.C.Donly
3.B.C.Donly
4, A, B. C only
Options :
68634086349. 1
68634086350. 2

68634086351. 3
68634086352. 4



Question Number : 88 Question Id : 68634021854 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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.&dd AB.C.D

3.%dd B.C.D

4. Hdd AB.C

Options :

68634086349. 1
68634086350. 2
68634086351. 3
68634086352. 4

[ )

Question Number : 89 Question Id : 68634021855 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following irrigation method is most suitable for undulating topography:

1. Cablegation

-2

. Sprinkler irrigation
3. Drip urigation
4, Border irrigation

Options :

68634086353. 1
68634086354. 2
68634086355. 3
68634086356. 4

Question Number : 89 Question Id : 68634021855 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634086353. 1
68634086354. 2
68634086355. 3
68634086356. 4

| B
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Question Number : 90 Question Id : 68634021856 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The working efficiency per day of deshi plough is

1.03ha

[ ]

.0.4ha

.0.6ha

[F¥]

4.0.8 ha

Options :

68634086357. 1
68634086358. 2
68634086359. 3
68634086360. 4

Question Number : 90 Question Id : 68634021856 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
<3 50 & fog prigmal Faff@a A S g 2

1.0.3ha

| ]

. 0.4 ha

. 0.6 ha

[ ¥]

4. 0.8 ha

Options :
68634086357. 1
68634086358. 2



68634086359. 3
68634086360. 4

Question Number : 91 Question Id : 68634021857 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the hydraulic conductivity is 0.2 meter/day and thickness of the aquifer 1s 1.5 meter. the transmissivity of the
aquifer will be

—

. 7.5 meter square per day

]

. 0.30 meter square per day

[P

. 30 meter square per day

4. 0.85 meter square per day

Options :

68634086361. 1
68634086362. 2
68634086363. 3
68634086364. 4

Question Number : 91 Question Id : 68634021857 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634086361. 1
68634086362. 2
68634086363. 3
68634086364. 4

[a—y
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Question Number : 92 Question Id : 68634021858 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following term evapotranspiration stands for the ratio between marketable crop yield and water
used in evaporation:-

1. Consumptive use efficiency

b2

. Field water use efficiency

faa

. Water use efficiency

4. Economic rrigation efficiency

Options :

68634086365. 1
68634086366. 2
68634086367. 3
68634086368. 4

Question Number : 92 Question Id : 68634021858 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634086365. 1
68634086366. 2
68634086367. 3
68634086368. 4

Question Number : 93 Question Id : 68634021859 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Per capita demand of water 1s defined as the litres of water consumed daily by each person. Naturally it has to
be some average value, over a period of time. Over how much period the averaging 15 done here:-

1. 24 hours

[ ]

. One year

[F¥]

. 10 years

4. 35 years



Options :

68634086369. 1
68634086370. 2
68634086371. 3
68634086372. 4

Question Number : 93 Question Id : 68634021859 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. 35 HIel

Options :

68634086369. 1
68634086370. 2
68634086371. 3
68634086372. 4

Question Number : 94 Question Id : 68634021860 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following diseases 1s not caused by water pollution?
1. Typhoid
2. Dysentry

. Malaria

Lad

4. JTaundice

Options :

68634086373. 1
68634086374. 2
68634086375. 3
68634086376. 4

Question Number : 94 Question Id : 68634021860 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634086373. 1
68634086374. 2

68634086375. 3
68634086376. 4
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Question Number : 95 Question Id : 68634021861 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soil erosion can be prevented by

1. Increasing faunal population

]

. Afforestation
3. Removal of vegetation
4. Overgrazing

Options :

68634086377. 1

68634086378. 2

68634086379. 3
68634086380. 4

Question Number : 95 Question Id : 68634021861 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634086377. 1
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68634086378. 2
68634086379. 3
68634086380. 4

Question Number : 96 Question Id : 68634021862 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A new vertical single bud technique has been implemented m some areas of Punjab for sugarcane cultivation.
Which of the following statements is/are true about this technique

A. This technique requires 85% fewer seeds than traditional method for the same ficld size.
B. It reduces water consumption by 50%
C. The yield is almost doubled

Choose the correct answer from the options given below:

1.A.B & C only

[ ]

. A only

.A & C only

[F¥]

4.B & C only

Options :

68634086381. 1
68634086382. 2
68634086383. 3
68634086384. 4

Question Number : 96 Question Id : 68634021862 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634086381. 1
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68634086382. 2
68634086383. 3
68634086384. 4

Question Number : 97 Question Id : 68634021863 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following cropping pattern i1s most suitable for area with less than 500 mm rainfall:

[a—y

. Mono cropping

[ ]

. Crop holding

aa

. Fallowing

=y

. Multi Cropping

Options :

68634086385. 1
68634086386. 2
68634086387. 3
68634086388. 4

Question Number : 97 Question Id : 68634021863 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634086385. 1
68634086386. 2
68634086387. 3
68634086388. 4
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Question Number : 98 Question Id : 68634021864 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Water available between field capacity and permanent wilting point is called as:

1. Gravitational water

[ ]

. Capillary water
3. Available water

4, Connate water

Options :

68634086389. 1
68634086390. 2
68634086391. 3
68634086392. 4

Question Number : 98 Question Id : 68634021864 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634086389. 1
68634086390. 2
68634086391. 3
68634086392. 4

Question Number : 99 Question Id : 68634021865 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a secondary tillage implement?

1. Cultivator

[ ]

. Harrow
3. Hoe

4. Meston Plough

Options :
68634086393. 1
68634086394. 2



68634086395. 3
68634086396. 4

Question Number : 99 Question Id : 68634021865 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHEfRad O 9 &9 91 USRI (gdlge odis, & 6K 76l § 2
1. Heclder
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. Pard

. H% gd(Meston plough)
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Options :

68634086393. 1
68634086394. 2
68634086395. 3
68634086396. 4

Question Number : 100 Question Id : 68634021866 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following tool 1s used for measuring the draft agricultural implements?

1. Hydrometer

-2

. Galvanometer

. Pyrheliometer

L%}

4. Dynamometer

Options :

68634086397. 1
68634086398. 2
68634086399. 3
68634086400. 4

Question Number : 100 Question Id : 68634021866 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634086397. 1
68634086398. 2
68634086399. 3
68634086400. 4



